FgArea: [0 ]
NC11 P3-2
2025-06-10 (Day 73)




T
- —@— VI
—0— VO

2500

2000

1500

1000

500




VN

1

——

1400 ~

1200 ~
1000 ~

800 ~

600

400 -

200 -

0



1 0IR

——

70

60

20

10

1.0
0.8 A
0.6 -

0.4 A

0.2 -

0.0



2500 o 1 VI vs Du

°

)

Y0
2000
o0 °
°
® ® °
C )
1500 - ]
®
)
1000 o®
0..
500 C
()
‘.
C 4
0_ T T T T T
1000 2000 3000 4000 5000

DU




FR

——
@

70

60

50

40

30

10

0. 70 -
0. 65 -
0. 60 -
0.55 -
0.50 -
0.45 -
0. 40 -
0.35 -



>

e

(]

(]

—

+ o
T T T T T T T T T
o o o o o o o o o
© © < N o [>°) © < N
— — — — —

70

60

50

40

30

20

10



1 (fgArea = NA)
| |

4500 1 —@— ECI*10%
—o— ECO T
4000

3500 ﬂ

3000 ﬂ*qia

2500

2000

1500 ~

1000
o




—@— PHI*10%

7.5 4 ~®— PHO

7.0

6.5

6.0

5.9

70

60

50

40

30

20

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-2
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P3-2_0, Day=72 (2025-06-09)

150 A

100 A

50

200 3

150 -

100 -

FRV (ml plant-1)

1
o
1

VI, VPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2500

1969

220 [1237
60 00

Warning: lcol [FVI',| "FVO’'] missing

1700 562 |

T
— N
o o
o o
o o

FRV (ml d-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

ET (ml/hr/plant)

200 -

100 A

]
Bylnit] @73 01:46: ET=999 Fg=1200.0 Ro=255.0

| AR

2000

- 1500

- 1000

- 500

J a
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

2000

ET (ml/hr/plant)

200 -

100 A

55| %= B | BB [ KB | kKB | KB | B | MW | W | W [m [ [BHA[F|®|MW|K|K|B|B|KB|®B|[F

ByEt @72 19:07: ET=941 Fg=1496.0 Ro=nan

- 1500

- 1000

- 500

07 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

2000

ET (ml/hr/plant)

1.0 A

0.8

0.6

0.4+

0.2~

1
1
1
100 - I
1
1
1

ZE|ZE|(Z=| W | BB | W [ B I ZR[(ZR|EE(ZR|ER(Za|)W| B |ER|(ZE|EE |2 (2|25 (25| B [ B

]
ByWoFvi @D73 01:46: ET=800 Fg=900.0 Ro=192.0

- 1500

- 1000

- 500

ZE|ZE(Z=| W | BB | W [ B I ZR[(ZR|EE(ZR|ER[(Z|)W| B |ER|(ZE|EE |2 (2|2 (2| B [ B

1808 3

1000 ~

500 A

0

—_—
[ ] | _obs
—@— PPFD obs

A A

=

_ T
o T obs
o To_obs

% “‘ﬁrqii‘ ® VP

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

36. 0

—o— ME 38.01 —8— ME 38.5 1 —o— ME
35.5 - 28 4
i 37.5 -
35.0 38.3 -
34.5 -
37.0 - 38.2 -
34.0 -
65 38.1 -
33.5 - ]
38.0 -
33 - 33.0 + 04
- MNE 36.0 579
T T T T T T T T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480
m=585,m FV0=0 m=655,m FV0=0 m=695,m FV0=0 m=760,m FVO=0
—e— WNE —o— ME —o— NE 31.57 o ME
5 36. 75 -
36.5 -
36. 50 37.0 1
0 -
36.0 - 36. 25 - 2.5 -
5 36. 00 -
i 36.0 -
35.5 35. 75 -
0 -
35. 50 35.5 -
35.0 -
T T T T T T T T T T T T T T
585 590 595 655 660 665 695 700 705 762.5 765.0 767.5 770.0 772.5
m=835,m FV0=0 m=875,m FV0=0 m=920,m FV0=0 m=1000m FVO=0
- ME - MNE - MNE - ME
0 37.5 -
37.0 - 38.0 -
97 37.0
36.5 -
- 37.5 -
36.5 -
36.0 -
97 37.0
36.0 -
0] 35.5 -
835 840 845 875 880 885 920 925 930 1000 1005 1010
m m=375,m FV0=0 m=420,m FV0=0 m=470,m FV0=0
47
44 - - MW 46 - - MW ® M_w
0-
42 - 45 46 -
N 40
441 45
40.0 -
38 1 43
.51 44 -
36 - 42
0-
34 - 417 43
- MW
° 5 - T T T T T T T 40 T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480



m=585, FV0=0

46 _ + M_W
44
42 -
40 -
T T T
585 590 595
m=835,m FV0=0
—o— MW
44
42 A
40 -
38 -
T T
835 840 845

m=695, FV0=0

46

44 -

42

40 -

—0—

MW

T
655

T T
660 665

m=875,m FV0=0

46 -

45 ~

44 -

43 A

42

41

40 -

—0—

M_W

T
875

880 885

m=695, FV0=0

46

45 A

44 -

43 -

42 4

41

—0—

MW

T
695

T T
700 705

m=920,m FV0=0

46

45 -

44

43 A

42 -

41 -

—0—

M_W

T
920

925 930

m=760, FV0=0

46

45 -

44 -

43 -

42 -

41 -

—— MW

/***.

76&.5 76%.0 76;.5 776.0 77é.5
m=1000m FV0=0

46

45 ~

44 -

43 -

42 -

41 -

—o— MW

T T T
1000 1005 1010




hour

:30

125

115

:05

:50

140

:30

140

100

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%\
T
Y
%

@f%$
%
%

%

3,



P3-2

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

07:35 278 150. 0 2.583 E BRi&e07:35 Ba1 (GRAERERE)
08:20 278 150.0 2.583 F  BRi%e08:20 BE1 (RAERE)
09:30 278 150.0 2.583 = {Ri%@09:30 B (RAERSE)
10:30 278 150. 0 2.583 E BRi%e10:30 Bz (GRAERERE)
11:25 278 150. 0 2.583 S {Ri%e11:25 Bz (GRAERSE)
12:15 278 150.0 2.583 =l RiBe12:15 Bz (REAKEEE)
13:05 278 150. 0 2.583 E BRige13:05 Bz (GRAERESE)
13:50 278 150.0 2.583 5| {Ri%e13:50 B3 (RAERSE)
14:40 278 150.0 2.583 =l {Rig014:40 B3 (RAERSE)
15:30 278 150. 0 2.583 F BRi&e15:30 Bz (GRAERESE)
16:40 278 150. 0 2.583 El BRi&e16:40 Bz CGRAEREEE)
23t+]3058.0 (11%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

WERRHUEME S TEAERTS (179.0 : 142.0), AIgERAF—RE XAH45
BRI\ SEBRIERE142.0 ml.
B EKECE (1927.0 vs 3237.0) 345



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

150 A

100 A

200 A
150 -

100 -

1.

|
300 4 ByInit @73 01:46: ET=1309 Fg=1650.0 Ro=345.0 # 3000

200

100 -

300
200
100 -

1.
0.8
0.6
0.4+

0.2~

50

1
o
1

P3-2_0, Day=71 (2025-06-08)

(¢

VI, VSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3043

2100
160 1168 220

Warning: lcol [FVI',| "FVO’'] missing

0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

—e——0—o—@ II\I\\

0* 1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ByEt @71 19:07: ET=1347 Fg=2312. 0 Ro=nan

_ 1

e —

> SR S < P

p——& ) 4 @ 4 4
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

]
ByWqu @D73 01:46: ET=1402 Fg=1650.0 Ro=330.0

0

60

—_—
[ ] | _obs
—@— PPFD obs

RH
[ ] RH_obs
[ ) RHo_obs

hour

T
w
o
o
o

- 2000
- 1000

0

- 40.0

-
2

-35.0
11
| I |

-32.5

- 2000

BE | fi5 | 5 | RE | M5 | f5 | BE | 5 | f5 | Be | A5 | RE | s | A5 | RE | A5 | A5 | RE | M5 | A5 | RE | 5 | A5 | mg [ 3000
L 2000

- 1000

B | R | R5 | RE | BE | R | A | A% | RE | RS | Bs | RS | R | BE | RS | Bs | RE | R | BE | B | B8 |Zn | & m | % o | 9000
- 2000

- 1000

e v P

FRV (ml d-1)

F37.5

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



40.

40.

39.

39.

41.

40.

40.

39.

39.

32 - T T T T
400 600 800 1000
m=555,n FV0=0
374+ —@— M_E
36 A
35 A
34
33 -
5%5 5é0 5é5
m=695,n FV0=0
—&— ME
5 -
0 -
5 -
0 -
665 760 765
m=815,n FV0=0
0
-&— ME
5 -
0 -
5 -
0 -

815 820 825

36.

36.

35.

35.

34.

34.

40.

39.

39.

38.

38.

37.

41,

40.

40.

39.

39.

40.

40.

39.

39.

38.

m=390, FV0=0

54 —@— ME
04
5 -
0 -
5 -
04
390 395 400
m=595,m FV0=0
0ol @& ME
5 -
04
5
04
5 -
595 600 605
m=725,m FV0=0
01 —o— ME
5
04
5
0 -
725 730 735
m=850,m FV0=0

1T —e— ME

=
i

850 855 860

36.

36.

36.

36.

36.

40.

40.

39.

39.

38.

40.

40.

39.

39.

40.

40.

39.

39.

38.

38.

m=435, FV0=0
87 —o— ME
6 -
4 -
2 -
0 -
4§5 450 455
m=630,m FV0=0
57 —o— ME
o -
5 -
0 -
5 -
eéo 655 650
m=755,m FV0=0
—o— ME
5 -
o -
5 -
0 -
755 760 765
m=885,m FV0=0
5
—o— ME
0 -
5 -
0 -
5 -
0 T T T
885 890 895

35.

34.

34.

33.

40.

40.

39.

39.

38.

41.

40.

40.

39.

39.

40.

39.

39.

38.

m=505, FV0=0

5 4

0

M_E

5%0 5%5
m=665,n FV0=0

5_

0 -

6%0 6;5
m=785,n FV0=0

5 4

0_

—o— M_E

760 755
m=920,n FV0=0

785

0

—o— M_E

920 925 930




m=935, FV0=0 m=995, FV0=0 m=390, FV0=0

46
—— ME —— MW
40.0 44
40.0 -
42
39.5 -
39.5 + 40 -
39 0 N 38 _
39.0 -
36 -
38.5 - o= ME - mw
T T T T T T T T T T T T T
955 960 965 995 1000 1005 400 600 800 1000 390 395 400
m=435,m FV0=0 m=505,m FV0=0 m=555,m FV0=0 m=595,m FV0=0
47 A
46
—— MW 26 —— nw 46 1 —— uW —— MW
46
45
44 - 44 -
45 24
441 43 1 42 42
43 - 421
41 40 - 40 -
42
T T T T T T T T T T T T
435 440 445 505 510 515 555 560 565 595 600 605
m=630,m FV0=0 m=665,m FV0=0 m=695,m FV0=0 m=725,m FV0=0
46 - 46 1 46 - 46 -
—o— MW —o— MW —o— MW —o— MW
45 451 45 45 -
44 44 7 44 44
43
43 - 43 - 43 1
42
42 49 42
41
41 a1 41 -
40 - 407
T T T T T T T T T 40 B T T T
630 635 640 665 670 675 695 700 705 725 730 735
m=755,m FV0=0 m=785,m FV0=0 m=815,m FV0=0 m=850,m FV0=0
46
—-o— MW - MW - MW —o— MW
45 45 45 45
44 T 44 - 44 _ 44 N
43
43 43 43
42
42 - 42 - 42
41
41 - 41 - 41 7
40
40 i T T T 40 | T T T 40 1 T T T T T T
755 760 765 785 790 795 815 820 825 850 855 860



m=885, FV0=0

45 -

44

43

42

41 -

40 -

—0—

M_W

885

T
890

T
895

m=920, FV0=0
—o— MW
45 -
44
43
42
41
920 925 930

m=935, FV0=0

46 -

45 -

44 -

43 -

42 4

41 -

—0—

M_W

955

T
960

T
965

m=995, FV0=0

46

45 -

44

43 -

42

41 -

—0—

M_w

995

T
1000

T
1005




hour

155 -
:00
:45
:45
:35
125
110
155
:35
:20
110
:05
:30

100

80

- 60

- 40

WA R WA
Fed a8 @& S
] VX X

'

§_

7
L
N
4
2

%

Ng
%

2

R
-



P3-2

BIfE] | CEBAK G | Edte (/5 | Edee (/X)) [RKa Egos
08:00 273 150. 0 > 58T T B a8, . -
08:45 273 150.0 R LA UL B3] CRATz )
09:45 273 150.0 R B3] CRpfeRee) |
10:35 273 150. 0 5583 | 100045 Fo) CREfELE) |
1125 273 150.0 5583 1 2 712010:35 Bz (RHEES)
12:10 273 150. 0 5583 | 101125 o) CREfEl) |
12:55 273 150. 0 5583 | 101210 By CREfERE) |
13:35 273 150. 0 5583 | 101255 o) CREfELE) |
14:20 273 150. 0 5583 | 101335 o) CREfERE) |
15:10 273 150. 0 5583 | 101420 o) CREfERE) |
1605 273 150. 0 5583 | 10510 By CREfERS) |
17:30 273 150. 0 5583 | 1016000 o) CREfEE) |
BT ] 3276.0 _(12K%) 1800. 0 ' 5| [Ri%017:30 Hafl CGRAGRE) |
: ZEWOHREC: 2080.0, PH: 6.0




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=70 (2025-06-07)

ET (ml/hr/plant)

e ey ey e ey e s e E————— e ——— ————— 4000
VI, V&%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2992
3000 ~
550
100 +
1900 2100 =
2000
480 467
50 160
00 - 1000
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 4 —— ME p40.0
maxM
150 - B T e e -37.5
100 - i -35.0=
50 I -32.5
1.0 30.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 - Bylni‘t: @73 - 01:47- ET=1547 Fg=1800.0-Ro=370.0 t —_
! - 3000 2
1 =
i 1 o
200 I - 2000 =
: L1l S 5
'—
100 1 : I\ 1000 ‘£
1 \ o
1
0 1z & I I S .
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
3004 mE g fg i (5 g fg {5 g g i 5 5 5 fg i (5 5 i 5 5 5 i 5 3000 2
1 c
ByEt @D70 19:07: ET=1642 Fg=2550. 0 Ro=nan .I @ o @ © %’_
200 - I - 2000 =
I ~—
'—
100 1 — 4 ! 1000 ‘£
1 o
e
0 a— 1 [ — — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
30 {FE | 8 | % | % | % | % | % | % | % | % | % | % [ % [ [ % [m [ % [ m e s mE], o
1 c
ByWon: @D73 01:47: ET=1467 Fg=1800.0 Ro=390.0 %_
200 - - 2000 =
'—
100 H - 1000 'E
>
[&]
1.0 ) 0
0.8
0.6 -
0.4 1
0.2 A
0.0
1500 4 S— 4

[ ] | _obs
1000 - —@— PPFD obs

500 A




37.

36.

36.

35.

35.

39.

39.

38.

38.

37.

39.

38.

38.

37.

40

38 -

36

34 -

32 -

T T
800 1000

m=610,m FV0=0

T
600

M_E

6i5 6é0
m=730,n FV0=0

5_

0_

—o— M_E

j
W

7é5 7&0
m=850,n FV0=0

730

5 4

0 -

-o— M_E

il
s

850 855 860

m=455, FV0=0

33.

32.

32.

31.

31.

M_E

T T
455 460 465

m=640,m FV0=0

38.

38.

37.

37.

36.

36.

—0— ME

6&5 660
m=760,n FV0=0

39.

38.

38.

37.

—o— ME

765 7%0
m=880,n FV0=0

760

38. 75 A

38. 50

38. 25 A

38. 00 A

37.75 A

37. 50 A

37. 25 A

- ME

880 885 890

m=490, FV0=0

33.754 —8— ME
33. 50 -
33. 25 -
33. 00 -
32.75 -
32.50 -
T T T
490 495 500
m=670,m FV0=0
—o— ME
39.0
38.5
38.0
37.5
37.0
36.5
T T T
670 675 680
m=790,m FV0=0
—o— ME
39.0
38.5
38.0
37.5
790 795 800
m=910,m FV0=0
38.5 - —&— ME
38.0
37.5
37.0

915 920

m=535, FV0=0

34. 50 A
34. 25 A
34. 00 A
33. 75 A
33. 50 A
33. 25 A

33. 00 A

—0—

M_E

T
535

5&0 5&5
m=700,n FV0=0

39.5 A

39. 0 -

38.5 -

38.0 A

—0—

M_E

N,

700

765 7%0
m=820,n FV0=0

39. 0 -

38.5 -

38. 0 -

37.

——

M_E

820

Bé5 850
m=945,n FV0=0

38. 25 A

38. 00
37.75 A
37. 50 A
37. 25 A
37.00 A

36. 75

——

M_E

945

950 955




m=980, FV0=0

—e— ME
38. 25 |
38.00
37.75 1
37.50 1
37.25
T T T
980 985 990
m=490,m FV0=0
—— MW
44 1
42 1
40 -
38 |
T T T
490 495 500
m=670,m FV0=0
44 —o— MW
42 1
40
38 |
670 675 680
m=790,m FV0=0
45 -
—— MW
44 1
43
42 1
41 4
40
39 1

790 795 800

m=1030, FV0=0

37.6 A

37. 4 -

37.2 4

37.0 A

36. 8 -

36. 6

—o— ME

T
1030

1055 1d40
m=535,n FV0=0

45 -

44 -

43 -

42

41 -

40 -

39

—— MW

535

5&0 5&5
m=700,n FV0=0

45

44 -

43 4

42 -

41 -

40 ~

39 1o

—o— MW

\

700

765 7iO
m=820,n FV0=0

45 A

44 -

43 -

42

41 -

40 -

- MW

820

825 830

45.0

42.5

40.0

37.5 -

35.0 -

32.5 -

-o— MW

T T T
600 800 1000

m=610,m FV0=0

42 -

40 -

38 A

36

34

—o— MW

i

610 6%5 650
m=730,n FV0=0

45 A

44 -

43 -

42

41 -

40

39 A

—o— MW

=
7

730 7é5 7&0
m=850,n FV0=0

45 -

44 -

43 A

42 -

41 1

40 ~

-— MW

i
i

850 855 860

m=455, FV0=0

44 -

42 -

40 -

38

36

34 -

32 A

—— MW

455 4é0 4é5
m=640,n FV0=0

44

42 -

40 4

38

36

—— MW

640 6&5 660
m=760,n FV0=0

44 -

43

42 -

41

40 -

39 A

—— MW

760 765 7%0
m=880,n FV0=0

45 -

44 -

43 -

42 -

41 -

40 -

- MW

880 885 890




m=910, FV0=0

45 —— MW
44 -
43 -
42 -
41 4
. . .
910 915 920

m=945, FV0=0
45 —— MW
44 -
43 -
42 -
41 4
T T T
945 950 955

m=980, FV0=0
—o— MW

45 -
44 -
43
42
41

T T T

980 985 990

m=1030, FVO=0
—— MW

45 -
44 -
43 -
42 -
41 -

T T T

1030 1035 1040




hour

125

105
:15

100

80

- 60

- 40

WA R WA
Fed a8 @& S
] VX X

'

§_

7
L
N
4
2

%

Ng
%

2

R
-



P3-2

057*f_l3ﬁ]5 BRI (%2%)3 Ehe (=A%) [ BREE GG/R) XX Ee:
- ES TR =
08:20 273 123% g 222 fE | [RIRE07.35 ) CRATeRs
09:15 273 150. 0 2583 F5| (51%008:20 B3 CRRfERGE)
10:05 273 150. 0 2583 FE| (51200915 B3 CRRfERGE)
1055 273 150.0 2.583 B | (1%010:06 B3 CRAERGE
11:40 273 150.0 2.583 B | (1%010:556 B3 CRAERGE
12:25 273 150. 0 2,583 BE | {518011:40 Ha) GRAMERE)
13:05 273 150. 0 2583 BE| (R012:05 B3 CRRfERGE)
13:45 273 150.0 2383 1 Pl Fa013:05 BEI (Rp BE) |
1425 273 150. 0 2583 BE| (%013:45 B3 CRRfERGE)
15:10 273 150.0 2583 BE| (ig014:05 B3 CRRfERGE)
16:05 273 150.0 2583 BE| (i%015:10 B3 CRAfERGE)
17:15 273 150.0 2.583 A5 | 151%016:05 537 CRkpfghas) |
BT 35490 (137K%) 19500 : BB {Rge17.15 Bz GRHAFREE)

- Z W REC: 2080. 0,




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=69 (2025-06-06)

T T ———————————— 4000
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3362
865 | 3000
100 2288
1800 1900 gadt 2000
50 060
80 00 L 1000
Warning: lcol [FVI',| "FVO’'] missing
0 975
( o v —_ ME P
200 - ERV maxM | 35.0
IR e ooy = = v GO IV O NN BN U B | INN B BN O BN BN BN BN BN BN VN S I ISR VRN IR e
L 32.5
100 1 ] i Wi r R RN N - L 30,0
111 il
1.0 I
U
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 optEC0=2600. 0, setECB=2080.0 B
0.6 -
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0
B 4000
300 A Bylnlt:@D73 01:47: ET=1420 Fg=1650.0 R0=369.0
: L 3000
200 - :
I L 2000
1
i 1
100 ! L 1000
1
0| 1| 2] 3] 4] 51 6] 7] 81 9 J10] 11 1213 14] 15 ] 16 ] 17 ] 18 ] 19 | 20 | 21 | 22 | 23 | 4000
300{ W |B=| % | m | | m® | | % | | m | m | [ w | m | m | [ | | m | m | w | m]m
1
ByEt @D69 19:07: ET=1579 Fg=2865.0 Ro=nan ¢ - 3000
200 - ,
I L 2000
100 - L 1000
o =% 2—=8 0
0 1 2 4 5 23 | 4000
0] B | gz B | B | B | B | B | B | B[ B 5 5 5 5 5 5 5 5 EREAREREAEEA R
1
ByWoFvi @73 01:47: ET=1640 Fg=1950.0 Ro=437.0 - 3000
200 - ,
I PY L 2000
1
100_ 1 /1——’-/I\l/il
] L 1000
: ¥
1 0.] —f8——s— — 0
T o0 [ 11 21 3] 4 5] 61 71 81 9 |10 111213 14]15]16 17 18] 191 20 [ 21 [ 22 | 23
ool B | BZ| B | % | & | % | % | % | % | % | % | % | % | % | % | % | % | %% 2222122152 5%
0.6 -
0.4
0.2
0.0
1500 ¢ —_ N
[ ] | _obs
1000 —@— PPFD obs
500 -
80 — RH a4
RH_obs
RHo_obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



- ME
36 -
34
32
30 4
28 -
T T T
600 800 1000
m=545,m FV0=0
021 oy
30.0 -
29.8 -
29. 6 -
T T T
545 550 555
m=665,m FV0=0
27.70
27. 65
27. 60
27.55
27.504 ¢ ME
665 670 675
m=785,m FV0=0
28.31 o 4
28.2 -
28.1 -
28.0 -
27.9 -

790 795

m=435, FV0=0 m=465, FV0=0
1.0 1.0
0.8+ 0.8 4
0.6 1 0.6 -
0.4+ 0.4+
0.2 A 0.2 ~
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
O- 0 T T T T 0- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=585, FV0=0 m=620, FV0=0
30. 3 A - M_E 28. 6 . M_E
30. 2 A 28 5 -
30. 1 A
28. 4
30. 0 A
28. 3
29.9 A
29 § - 28. 2 1
29. 7 A 28. 1 A
T T T T T T
585 590 595 620 625 630
m=695,m FV0=0 m=725,m FV0=0
27. 50 A - M_E 27. 60 - - M_E
27. 45 A 27. 55 A
27. 40 A 27.50 -
27. 35 27. 45
27. 30 A 27. 40 A
695 700 705 725 730 735
m=815,m FV0=0 m=845,m FV0=0
2897 o ME —o— M_E
29. 6
28. 8
28. 7 A 29 4 -
28. 6
29. 2 A
28.5 A
28. 4 A 29.0 A
815 820 825 845 850 855

1.0

m=495, FV0=0

0.8 -

0.6 A

0.4 A

0.2 A

0.0

Warning: col ['M_E'] missing

.0 0.2

T T
0.4 0.6 0.8

m=630, FV0=0

—_

28. 20 A

28.

28.

28. 05

28. 00 -

—0—

M_E

655 6&0
m=755,n FV0=0

630

27.90 A

27.85 A
27. 80 A
27.75 A
27.70

27. 65 A

27.60

—o— ME

760 7é5
m=875,n FV0=0

755

30. 6

30. 4 A

30. 2 -

30.0 A

29. 8 A

29.6 -

-o— ME

875 880 885




m=910, FV0=0

31.

31.

31.

30.

30.

30.

M_E

40 ~

35 -

30 A

25 A

T T
800 1000

m=545,m FV0=0

600

28. 2 -

28.0 -

27.8 -

27.6 -

27. 4

27.2 -

—— MW

i

5é0 565
m=665,n FV0=0

545

36

34 -

32 -

30 -

28 A

26

-— MW

I

665 670 675

33.

33.

32.

32.

31.

31.

24,

24.

24.

24.

24.

23.

m=945, FV0=0 m=985, FV0=0
51 —8— ME 455 —@— ME
0 A 35. 0 A
5 34.5 4
34.0 +
0_
33. 5 1
5_
33.0 +
0 - T T T T T T
945 950 955 985 990 995
m=435,m FV0=0 m=465,m FV0=0
0 1.0
8 0.8 4
6 - 0.6 -
4 0.4
2 0.2+
Warning: col "MW 1] missing Warning: col "M W ] missing
0 T T T T 00 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=585, FV0=0 m=620, FVO0=0
&1 —o— MW | %07 —e— wmw
6 32.5 4
4 A 30.0 4
2 27.5 +
0- 25.0 -
8 22.5 A
585 590 595 620 625 630
m=695,m FV0=0 m=725,m FV0=0
- MW - MW
38 -
38
36
36
34 4
34
32
32
30 +
30
28 -
28
695 700 705 725 730 735

36.

36.

35.

35.

34.

35.

32.

30.

27.

25.

22,

m=1045, FV0=0

M_E

T
1045

1650 1655
m=495,n FV0=0

Warning: col "MW ] missing

40 -

38 -

36

34 -

32 -

30 -

0.2

T T
0.4 0.6 0.8

m=630, FV0=0

—_

—0— MW

630

Gé5 6&0
m=755,n FV0=0

-0 MW

755

760 765




m=785, FV0=0

40 -

38 -

36

34 A

32 -

30 -

——

M_W

T
785

T T
790 795

m=910,m FV0=0

42 ~

40 -

38

36

—0—

M_W

T
910

T
915 920

m=815, FV0=0

40 ~

38 -

36

34

32 -

30 -

—0—

M_W

T
815

T T
820 825

m=945,m FV0=0

42

40 ~

38 A

—0—

M_W

T
945

950 955

m=845, FV0=0

42 A

40 -

38

36

34

32 -

—0—

M_W

T
845

T T
850 855

m=985,m FV0=0

43 -

42

41 -

40 -

39 A

38 A

——

M_W

T
985

990 995

m=875, FV0=0

42 -

40 -

38 A

36

34 A

——

M_w

T
875

T T
880 885

m=1045m FVO=0

44 4

43 -

42

41 -

40

39 -

38 -

—0—

M_W

T
1045

T
1050

T
1055




